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1. [=forfaa 4 @ #i5 Uk 397 fo73r ST gehar & :

G)  FsT & T
(i) TG aYT AEIHT & T
(iii) F-YPBI9T 0F F-HFIcTT

Note :

1. Any one of the following areas can be offered :
(i) Elements of Business
(it)  Elements of Book-Keeping and Accountancy
(iti)  e-Publishing and e-Office

(i) aTTUTST & O

(i) Elements of Business
HTHTT 4597 :
(i) 3T YT T FT36 I8 |
(i) @ IeT fAEard &
(iii) Fo7-GEI 1 & 16 7% Fglasetiq Fo7 & 1 Jd% Tk 3% &1 & | 15T 7T
fa%egl 4 @ &l faheq &1 FHR-YiashT 4 forgr 8 |

(iv) Zo7-G&IT 17 T 26 % Y% 97 3 3Pl &1 & | 37 o7 & I 70 Vgl
(7% @ 37fer 787 817 1T |

(v) YIT-G&IT 27 T 32 T%F A% JIT 4 3Bl &1 5 | 37 I & IR 100 Ieg]
(%) @ 37fers 787 817 1T |

(vi) TIT-GTIT 88 T 36 TH 9% F97 5 3hl HT & | 37 F99 & IW 150 Isql
(F%) @ 37fers 787 817 1T |

(vii) TP FI7 3 T 917 vh-Gr9 5 HH 8 /

General Instructions :
(i) This part has 36 questions in all.

(it)  All questions are compulsory.
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(iti)  Questions from serial no. 1 to 16 are Multiple Choice Questions carrying
one mark each. These are to be answered by writing the correct option in
your answer-book.

(iv)  Questions from serial no. 17 to 26 carry 3 marks each. Answers to such
questions should not exceed 70 words each.

(v) Questions from serial no. 27 to 32 carry 4 marks each. Answers to such
questions should not exceed 100 words each.

(vi)  Questions from serial no. 33 to 36 carry 5 marks each. Answers to such
questions should not exceed 150 words each.

(vii) Attempt all parts of a question together.

1. U Y@, S shdl ! giod il & T o ffeaa ufy 3as @ § 5w & &

TE B, SEATdT 8 1
(A SHI9A

B) TdEHYUA

€) ek

O) @

A document, which informs the buyer that his account has been credited
with a particular amount, is called

(A)  Credit note
(B)  Debit note
(C) Invoice

(D)  Quotation

2. IRl H I B W fshdl WM IT9H o HehT @ 1
(A) 3R fosha |
(B) forva sremrft swerwen §
(C) Tommm s gz |
D) sadfd
In case of default in payment, the seller can repossess the goods in
(A)  Credit sale
(B) Instalment payment system

(C)  Hire purchase system
(D)  All of these

35 3 P.T.O.
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ffaer o =y 9E I aTelt W Y wEdd! 3

A)  IImfEE gen
(B) &= Ul

(C) Tora

(D) T ¥ I TE

An advance money required to be deposited with tender is called
(A)  Reserve price

(B) Earnest money

(C) Instalment

(D) None of these

T8 Ot nfafafeat St swgedt & yag *i 3ces § Uigh IR SR wd
7, o= AT B

@A) TR ®
(B) WM %
©) fosmE &
D) fora®

All the activities directed towards the flow of goods from the producer to
the consumer are part of

(A)  Transportation
(B) Payment

(C) Advertisement
(D)  Selling

freafafad <1 spa g9 ST @ R @

(A) afeat
B) ®d
(C) HHI
D) I g

We purchase the following by inspection :
(A)  Vegetables

(B)  Fruits

(C)  Shirt

(D)  All of these



35

el THIT Pt IR hi/eh ISR 3/a 1
A) fourfe yer

(B) *TEAEG g (WSR)
(C) HR NN
D) I g

Example(s) of large scale retail trade is/are
(A) Departmental store

(B)  Multiple stores

(C)  Super bazar

(D) All of these

IYAFATST T 98 TAH HT TEDHRI WSR, TGl ¢fHh ATITIhdT hl IEL Teh &l

Bd o 1 I Bl 7, e | 1
(A4) I IEM

(B) sT@dEg ThH (WER)

(C) STeh gHI =AU

(D) TEETferd fosea wsfia

Large scale cooperative store of the consumers where daily-use goods are
available under one roof, is called

(A)  Super bazar
(B) Chain stores
(C) Mail order house

(D)  Automatic vending machine

| 1 89 gC o1 shar 31 fasha g 8 1
(A) HiAH
B) faurfig yer #

(C) ST gRI S¥9R ¥

(D) JEAEgG Al (HSR) |

Buying and selling takes place without any face-to-face contact in
(A) Mall

(B)  Departmental store

(C)  Mail order house

(D)  Chain stores

5 P.T.O.



10.

11.

35

HF 1 [ A @ AlG WA 1 33 ThAT ST 8
(A) fodi afa d

(B)  3TATET SFUR 8

©) Tt faumfle wer 4

(D) *TEAEg gl (HSri) H

Knowledge of computers is required if goods are bought
(A) inamall

(B)  through online shopping

(C) in a departmental store

(D)  in chain stores

e IYMSFATST hl HHE =T haelTdl 8
(A) o IR

(B) IR IR

(C) 3

(D) frta

Selling directly to consumers is called
(A)  Wholesale trade

(B) Retail trade

(C) Import

(D) Export

fosITo & Soiereii-eh WIea| o 1T @

(&) X

(B) GHMER-9A

(C) &l | g

D) TR

Electronic media of advertising includes
(A)  Poster

(B) Newspaper
(C)  Vehicular display
(D) Internet



12.

13.

14.

35

o TN o1 forawer weh |1eH 3

(A)  Tospa gada =
B)  To=Taa

(C) cafeaa fashar &1
(D) ¥ | HI3 A&

Distribution of free samples is a tool of
(A) Sales promotion

(B)  Advertisement

(C)  Personal selling

(D) None of these

3CUTE o TRl SR IWeh fafsme aeon 9 Iuwnfiraredi i UTgehi ol THM
% foTu fosha wada 1 dod I9gFa aleT &

(A)  HHdr J I

(B) H qAT YS!
(C)  3Afe AE &l B
(D) % fofma s==

To present and explain the special features and uses of a product to

consumers the best method of sales promotion is
(A)  Price reduction

(B) Fairs and exhibitions

(C)  Quantity discount

(D)  Exchange offer

ST Toshd W1 H&T 3299 &

(A) TG o (o &L hl SGHT

(B)  UTEeh! ol T M1

(C)  WTEehi I WX H HTA G5

(D) foaspa sgm

The main objective of personal selling is

(A)  toraise the standard of living of consumers
(B) to make consumers healthy

(C)  tosend the goods to consumers’ doorsteps
(D)  toincrease sales

7 P.T.O.



U AT sAfed o foIu i =1 Tt 3T=s1 Weed B
(A)  THERTA

B) AfasE
(C) WTeiA
(D) 9T

The best medium of advertisement for an illiterate person is
(A) Newspaper

(B) Television

(C) Magazine

(D)  Poster

fafafgd § 9 sa-Ht foqmo bt fosiwar 787 2 2
(A) SIS (TR BT ST =T BT
B) ol mem & g0 gENo

(C) T 1 SATFITA TEqTehol

(D)  JTAH ek TRAT T STAT FEINOT

Which of the following is not a feature of advertising ?
(A) Identified sponsor

(B) Communication through some media

(C)  Personal presentation of message

(D) Paid form of communication

3 <! forgl I Tgfaal o A9 SarsT |

Name any three methods of purchase.

fferer (Set) gru fershl h@ <Al STt @ 2

How are goods sold through tender ?



19.

20.

21.

22,

23.

24.

25.

26.

27.

28.

35

T 3 fasha O AT 7 HEd B 2

What do you understand by purchase and sale ?

fortrn v ugfa T 2 2

What is Hire purchase system ?

TeaTterd fosha wefa grT fasha g aTelt fohrgl ©: awqati o 3aTeul ST |
Give any six examples of the products which are sold through automatic

vending machine.

‘TS UM o P MR ! gRfia e iR #iE 31 3gretw df |

Define ‘large scale retail trade’ and give any two examples.

SeftoTiftT & 31y T THEd | 2
What do you understand by Teleshopping ?

gTh ¢RI SATIR <hl hig oI foRIgdTd <qrsy |

State any three features of Mail order house.

forsha gaea <1 foregl &1 deheiiohl hl H&IT T FHATT |
Briefly explain any two techniques of sales promotion.

T =1 @ 31 @ 2 sEehl fomivand sarsy |

What is the meaning of advertisement ? State its features.

TATIR-TST o H1e9d § Toqimoe o 1 oy it e 8 2

What are the advantages and limitations of advertising through
newspapers ?

Jfcheh Tasha oI 3 2 SUMIERATST <hi ise § 38k o1 @19 & ?

What is personal selling ? What are its advantages from the consumers’

point of view ?

9 P.T.O.



29.

30.

31.

32.

33.

34.

35.

36.

35

fasha <A1 RIS 1 Ugiaal 99esy |
Explain any two methods of selling.
faafafiga =1 gv=msT

(1) <1 9T (Shige ie)

(@) T (e ArR)
Explain the following :
(a)  Credit note

(b)  Debit note

YR TR F1 B & 2 $oh o1 A9 @ ?

What are Super bazars ? What are their advantages ?

3L VYT & 3T o1 THEIA & 2 SHeh! o HimTd & 2

What do you understand by Internet shopping ? What are its limitations ?

TERAT o T B T YA hl HIH-HE & Tg™m & ? THSRT |
What are the various modes for making payment on the purchase of a
product ? Explain.

faamiia WeR 3R JEaEg gHH (VeRi) o s= ST T9E HINT |

Differentiate between departmental store and chain stores.

fasha gaeda =1 gftafya hifve | sEen Hew arsy |

Define sales promotion. State its importance.

Jforaeh sk § e fashashal o T[0T SATST |

State the qualities of the salesman engaged in personal selling.

10



(ii) TEGTAT AAT AGThRA o a7
(ii) Elements of Book-Keeping and Accountancy

T (4397 :
(i) 3T YTH FT36 I E |
(i) @I HHAH & |
(i) Y-G9 1 & 18 7% Fglashetiq Fo7 & S Jed% T 3% &7 & | 15T 7Y

faweyl & @ g8l fasbey &1 IR-Yiashr 4 forgr 8 |
(iv) TF Yo7 & g 9777 Th-gr &1 #0731

General Instructions :
(1) This part has 36 questions in all.
(it)  All questions are compulsory.

(iii)) Questions from serial no. 1 to 18 are Multiple Choice Questions carrying
one mark each. These are to be answered by writing the correct option in
your answer-book.

(iv) Attempt all parts of a question together.

1. @ faa = fogren smom 1
(A) g 9 % gufq qe |
(B) I T & qied vt
(C) Y-gIH @rd % Sfee 9er §
(D) Y-BIH @Td % shige a1 |

Bills payable will be shown on the

(A)  Asset side of Balance Sheet

(B)  Liability side of Balance Sheet
(C)  Debit side of Profit and Loss A/c
(D)  Credit side of Profit and Loss A/c

35 11 P.T.O.
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e fafima o3 % f=ferfiad 9&1 g @

(A 6

B 4

< 3

(D) 2

A Dbill of exchange has the following parties :
A 6

B 4

< 3

(D) 2

T =1 e f=ferfaa < sufeafa & o femam Stan 2 -
(A) 3R (TeaThe)

(B) %

(C) Toua yamures (et dfeetss)

D) gfeE

Dishonour of bill is certified in the presence of the following :
(A) Advocate

(B) Bank

(C) Notary Public

(D) Police

Ife Tt fafma o i 2 fafs = gt seem 2, 9 avalas <o fafy
Bt

A & e

(B) 3T fe

() Tomen feq

(D) TH HEH oG ! ol die

If the due date of a bill of exchange is a public holiday, the actual due
date will be

(A) Same day

(B) Next day

(C)  Preceding day

(D) Same date of the next month

12
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3G deh | I T YR ST Tohal 7 ¢

A) o g
(B) =%

©) N
D) = foe

It can be discounted with the bank :
(A) Bank draft

(B)  Cheque

(C) Invoice

(D) Bills receivable

frfarfea & @ fraw g (ymam) i o ffga 2 2
(A) Sy H

(B) Uz
(C) ufas 9 (S=A-w=)
D) fafFma

Which of the following contains an order to pay ?
(A) Cash memo

(B) Pay-in-slip

(C)  Promissory note

(D)  Bill of exchange

T qoF 9 o &l 9& Bld 8
(A) T I faspa
(B) < IR 7T
(C) uiEufcEl 3R ggarg
D) fue i Hfee

Two sides of a Balance Sheet are
(A) Sale and Purchase

(B)  Profit and Loss

(C)  Assets and Liabilities

(D) Debit and Credit

13

P.T.O.



10.

35

o o

BN

D)

Which of the following will increase profit ?

Rgd § § 991 ATH I d T M ?

quid &1 3
I 1 PTAH
T St e
T T BT

(A)  Purchase of an asset

(B) Payment of salary

(C)  Introduction of new capital
(D) Discount received

oot ferams st &

(A)  gad 9 % Tufq qe |

(B) T 99 % qIfca 9 |

(C) M-I @rd & sfoe uar 4
(D) TH-EI @ & shige 9&1

Capital is shown on the

(A) Asset side of Balance Sheet

(B) Liability side of Balance Sheet
(C)  Debit side of Profit and Loss A/c
(D)  Credit side of Profit and Loss A/c
Tsh ATH-B1H @raT ewifar &

(A) Hohdd Y

(B) P TRETrHETl

© AsT™

D)  F gl

A Profit and Loss A/c shows

(A)
(B)
(®)
(D)

Gross profit
Total assets
Net profit

Total liabilities

14



11.

12.

35

Toret wes Tafcse fafyr w ues sgaam i foxdfim feafa it Sl @3 aren faewo

g

4) dui 9
(B) SR @l
(C) dede

(D) ATH-BTH T

Statement showing the financial position of a business on a particular

date is

(A) Balance Sheet

(B) Trading A/c

(C)  Trial Balance

(D)  Profit and Loss A/c

EERUREEIEAS L]

(A) AU @rd & sfoe ua o

(B) Y- GTd o shige 98T |

(C) IR @Td o sfoe 987 |

(D) AR WA & shise 4&1

Wages will be shown in

(A)  Debit side of Profit and Loss A/c
(B) Credit side of Profit and Loss A/c
(C)  Debit side of Trading A/c

(D)  Credit side of Trading A/c

15

P.T.O.



Teh SYIEE o (W @rdl | wHA 3
(A) YR @rdl

(B) ATH-gT @

(C) daiT

D) I g

Final accounts of a business include
(A) Trading A/c

(B)  Profit and Loss A/c

(C) Balance Sheet

(D) All of these

freaferfiad § @ - <fica w1 e @ 2
(A) TR

(B) WER

(C) 9t o

D) 3o

Which one of the following is an example of a liability ?
(A) Debtors

(B)  Creditors

(C) Bills receivables

(D)  All of these

ot FoaRTS 2 1 e o F e @ Fre §
(A)  Sfad ISt + e — T ISt - IR ol

(B) A St — TG + FfT ISt — TR Yt

(C) Ui St + IR0 + Aol GSht — 3ifa it

(D)  SRIeh Yol + Imewer — el gsft — stfam goit

In case of incomplete records, profit is calculated as follows :

(A)  Closing capital + Drawings — New capital — Opening capital
(B)  Closing capital — Drawings + New capital — Opening capital
(C)  Opening capital + Drawings + New capital — Closing capital
(D)  Opening capital + Drawings — New capital — Closing capital

16



16.

17.

18.

35

38k GRI 3TYUT TI@Teh i€ Tl ST shl AHTEHT 37T &

(A)  Th B GHAER

(B) U et fAHiofi ot
(€ Th we fawmiia wer
(D) T TGS HEoH

There is greater possibility of maintenance of incomplete accounting

records by

(A) A small shopkeeper

(B) A big manufacturing company
(C) A big departmental store

(D) A multinational company

a1quf fohie B <t feufa 4 focfta feurfa =t gt Sman 8

(A)  dAHE g
(B)  dod 9 g

C) fToufy foeror (wene 31f% mhatd) gra

(D) RN @I g

In case of incomplete records, the financial position is shown by

(A) Trial Balance

(B) Balance Sheet

(C) Statement of Affairs
(D)  Profit and Loss A/c

31Ul fehls § HMMIG: W@ S &

(A)  Thg 3 ATfheh @I

(B) 33 IR gi@Edf=l & @

(C) I SR St % @

D) I g

In incomplete records, generally kept are
(A) Cash and Personal A/c

(B) Income-expense and Assets A/c
(C) Liabilities and Capital A/c

(D)  All of these

17

P.T.O.



19.

20.

21.

22,

23.

24.

25.

26.

35

fafmg o <f1 =g & foeiwand srasT |

State any three features of bill of exchange.

e (Fe) W foa =1 gehat fopT I w1 21ef THEST |

Explain the meaning of retiring of a bill under rebate.

o ol St s wRRE % e s w9 AR

Distinguish between tangible assets and intangible assets.

SR @Il 1 gl 8 ? I8 R == 91l 8 2
What is a Trading Account ? Why is it prepared ?

foregl 1 =mey il ok formel e =Ime] qTfreai & A samsy |

Name any three current assets and any three current liabilities.

Jfqq @rdt # fF=faiaa wel sl gl g S 2

A) o 3R HreT

(B) T

(C) B Al 1 (Feqehitcaeh) fHaw
(D) Afaw =ik

(E) 31fse o=

Where will the following items be shown in final accounts ?
(A)  Freight and carriage

(B)  Goodwill

(C)  Short-term investment

(D)  Closing stock

(E) Audit fees

7ot fearte 1 o el 2 2 Tt FoRTE B N 3 Rt ST |

What is meant by incomplete records ? State any two features of

incomplete records.

o o 3R feufa foaewor (wewe o1f% e o offw 1 i fiaand samsu |

State any three differences between Balance Sheet and Statement of

Affairs.

18



27.

28.

29.

30.

35

ol o & 3w o= Tme 2 2 fafmg o &1 ue T s |

What do you understand by bill of exchange ? Prepare a specimen of bill
of exchange.

&9 | THHTET

(21) foat &l 512 W A
(@) e foow
Explain in brief:

(a)  Discounting a bill

(b)  Days of grace

Torcfiar foremont & 319 == THEd @ 2 30 I ST ST | 2

What do you understand by financial statements ? Why are they
prepared ?

frfeiRaa 3tferet @ wehar am/aTl i TomT ShifsTe

-
YR Tl 5,000
ED) 30,000
fospa 40,000
Hotedl 1,500
EED 750
Afqq Tl 3,550

Calculate gross profit/loss from the following figures :

<
Opening Stock 5,000
Purchases 30,000
Sales 40,000
Wages 1,500
Sales Return 750
Closing Stock 3,550

19 P.T.O.



31.

32.

33.

35

ToRe SRUTT | Teh SATIRT 31U T&hie T@dm & 2
What are the reasons due to which a businessman keeps incomplete
records ?

BN TIE o Fad™ 6l IS 1 319, 2015 1 T 50,000 ot 3R 31 A=, 2016
W T 48,000 °ft | 3T Far T I W HEN T 800 HfaTd IUINT o foIw
I ¥ bl | 38 3T T 2,000 T I R WY HgEE ¥ o | 3Ee
SAGHR o ATH/ETH T AT I |

The capital of Hari Mohan’s business was ¥ 50,000 on 18t April, 2015 and
T 48,000 on 315t March, 2016. He informed that he withdrew ¥ 800 per

month for his personal use from the business. He also paid his income tax

of T 2,000 from the business. Calculate the profit/loss of his business.

Frafafaa stfrst @ 31 W, 2016 1 THTT B o 9N o [OQ SqUR qef

ATH-BT Qa1 S418T

=
i (1-4-2015) 15,000
fospa 2,50,000
EX| 2,00,000
EEE 2,000
% (31-3-2016) 25,000
ELE] 3,000
fufen ok wymdt 1,200
feptrm 2,000
o 800
IR T SIS T YA 500
= @ 13,000

20



34.

35

From the following data prepare Trading and Profit and Loss A/c for the

year ending 315" March, 2016 :

Stock (1-4-2015)

Sales

Purchases

Wages

Stock (31-3-2016)
Salaries

Printing and Stationery
Rent

Insurance

Interest on loan paid

General expenses

31 fearar, 2016 =t f=AfaRad IHHEE % YR W e 93 SHET

Johe IR S
=
T

S

BT

I8
ih (31-12-2016)
Y BT g AY

?:

15,000
2,50,000
2,00,000
2,000
25,000
3,000
1,200
2,000
800

500
13,000

-
20,000
6,00,000
3,40,000
1,60,000
4,000
70,000
34,000
1,30,000
1,50,000

21
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From the following information prepare Balance Sheet as on
315" December, 2016 :

=
Cash and Bank 20,000
Capital 6,00,000
Building 3,40,000
Debtors 1,60,000
Creditors 4,000
Furniture 70,000
Drawings 34,000
Stock (31-12-2016) 1,30,000
Net profit of the year 1,50,000

35. QIgl oGl YUTTelt &I B 2 I8 Ushel oi@l YuTTel! & fohm g fia g 2

What is double entry system ? How is it different from single entry
system ?

36. <Y U FITM b YU (ehie W@l & | 3qeht feufa fFferfaa 2 :
31 femes, 2015 31 feweey, 2016
< <

LS 200 300
EED 3,000 2,000
wih 20,000 19,000
LT[R 8,500 14,000
e R HefiA 15,000 27,000
Bl 1,800 1,500
TR 22,000 29,000

Y % A 3T T 5,000 HI AR ISt @ME AR T 750 Tid AIE Hadq™ &
fepret | fearfa feraor wgfa gra emw/ert <6t o I |

35 22
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Deepak maintains incomplete records of his business. His position is as

follows :

Cash

Bank

Stock

Debtors

Plant and Machinery
Furniture

Creditors

31 December, 2015 31 December, 2016

=
200

3,000
20,000
8,500
15,000
1,800

22,000

T
300

2,000
19,000
14,000
27,000

1,500

29,000

During the year, he introduced ¥ 5,000 as further capital and withdrew

T 750 per month from the business. Calculate the profit/loss by statement

of affairs method.

23
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(iii) 3-TRTIE TE S-SRI
(iii) e-Publishing and e-Office

QAT (3597

(V)
(ii)
(iii)
(iv)

(v)

3G T H T 15 9 & |
@t g7 a8 |
F7-GEIT 1 & 6 7% @ Jo7 T57 DI IR a1 & 3R JeAeh J97 T 37% H & |

Jo7-GEq] 7 & 12 % Yod% Y97 2 3Hl F1 & | 59 ¥ & 3IH 60 gl
(F9%) @ 37feh & 781 817 =3 |

Jo7-G%7 18 G 15 T%F 9% Y97 4 37h] &7 & | 37 J941 & I 100 Tsg]
(979%) & 37fers & 787 517 =0ET |

General Instructions :

(i)
(ii)
(iii)
(iv)

(v)
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This part has 15 questions in all.
All questions are compulsory.

Questions from serial no. 1 to 6 are very short answer questions and each
question carries one mark.

Questions from serial no. 7 to 12 carry 2 marks each. Answers to such
questions should not exceed 60 words each.

Questions from serial no. 13 to 15 carry 4 marks each. Answers to such
questions should not exceed 100 words each.

Torell waera Sfte ® =mel i ST o oTT STidehe Shofl o1 8 2

Which is the short-cut key to insert charts in an Excel sheet ?

g 5 Frefrfad @ § & R v s (TS H2hi 2 |
=$G$3+C$3+$D3

Identify which part of the following formula is absolute referenced.
=$G$3+C$3+$D3
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FohISl T IS Th ATH 3T HIS Teh I TARIT |

Write any one advantage and any one disadvantage of cookies.

Toreft BRRETA sl 8 AT JdT & 2 I8 BTSN & IT FiFeda ?

How is a Firewall installed ? Is it a hardware or software ?

FRAATA fh8 ThEd 3 2
What is Firewall ?

Freferfiad ¥ =9 i

(%) GIT
(@) TIFF

Expand the following :

(a) GIT
(b) TIFF

gty & G o e qeat i ygfa Teiia o o foe w@n iR &9 (A1 U
wfEn) =Tt # 9 g fohg =1 1 gAE ST A1fge ? U I @l ifue

EGIEN

Which chart should I choose among line and area charts to show the
trend of three different values over a period of time ? Justify your answer.

3Tk I Teh &ieh UICHIal & aar fop 9 few o weme sfie § wefdfa foman
TR | WY CH I Iod ® AR w9 D ¥ Afqw qou | aiem i, afg 3 e
afdfd * @ & a1 Ty E d foafee o afg a1 @ & @ w9 F A | @ o
Tefdid hIfNT | 328 & U S8 AAA & 9T 10-4 hl 219 39 F3 # weiia

T AR |

Stock Volume Buy Last Gain Loss

(¥eT) (Stem) (53 (3fam) (AfFq) | (fam)
AAA 25 354 45-8 104
BBB 53 42-8 37-5
CCC 50 86-1 88
DDD 75 75 69
EEE 100 8 10

25

P.T.O.



10.

11.

12.

13.
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You have a stock portfolio as shown in the Excel sheet given below. In
column C you have the purchase price and column D the last price. Write
the result in column E if you win money or in column F if you are losing.
Display the difference also. For example, it should display a loss of 10-4
for AAA in F3.

Stock Volume Buy Last Gain Loss
AAA 25 354 45-8 104
BBB 53 42-8 37-5
CCC 50 86-1 88
DDD 75 75 69
EEE 100 8 10

GIMP &1 QU €9 #1 8 ? GIMP g0 aufdfa fhedi gt wisat I&di (BiHe)
T €T |

What is the full form of GIMP ? Give the names of any two file formats
supported by GIMP.

Bfd 1 THY FE I Fhdl 37 gigeaer 6 3Ue GIMP &1 39 i &
1% a1 o Tl |

Write any two advantages of using GIMP over other image processing
softwares.

Fd IR Tad Zod T A TR HIT |

Differentiate between curves and levels tools.

GIMP T “Toee wai Art” o o1 H G&9 § THEATST |

Ilustrate in brief about “text along path” in GIMP.

ot yETe fos o STeTush B 3R J §I o IR TR YA h1 IRYHUT TG HH
@& fU GIMP ¥ Ues %isdd HiHd o1 9gd 8 | STl 1 919 fdfgu 3R 39<h!
el < fou | (=een) w1 ot 3g@ sifv |

Mr. Prasad is a Science teacher and he wants to create a file in GIMP to

illustrate the Earth’s rotation around the Sun. Name the tool and write

down the steps to help him.

26



14.

15.
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TN H M Hd BT AT AHEA H IAH 7S § | 3191 hH G A H 3T

GEIAT hifoy |

(%) 3T g 30 faenfeRn i 27 ufiert (urehsfic) 8 S T dehsfic § SR
I TS B AT Y YAS B b bl bl 2 UG 3T <R IGMT 3 | WET
A o ToT AT (IR0 i faRau aifer ek qedi 1 C3 8 C33 T #

TSR & 9 |
(@) 38 = fer T aHe % IHER &9 D H U yefitia % § | ww D3 #
g e & foru sweq =t Tl | 4
37k DS
85 ¥ 100 A
70 T 84 B
55 T 69 C
<55 D

Sangeeta has got stuck with problems while working in Excel. Help her
in completing her work.

(a)  She has a marks list of 30 students stored in a worksheet and she
needs to increase them by giving a grace of 2 marks to each
student. Write the steps for doing so, given that marks values are
stored from C3 to C33.

(b)  She needs to display the grade as per the given criteria in
column D. Write the statement to be written in D3.

MARKS GRADE
85 TO 100 A
70 TO 84 B
55 TO 69 C
<55 D

fow-aeg @1 Al (Hicde hwafn) fowgaeg o (srafan) @ fea yer
T 3 2 ITYH ISR ot TS HITT | 4

How is content capturing different from content authoring ? Explain

giving suitable example.
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